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Ans

Wiods g gnven Eev wlatemnds and v gondlismions. Raad tsen caredully and decale which of the congd logically ™
Fiedlerad s} from the stataments

SEmements

All bulks are

Some flowers e leaves.
Conclusions:

L All bulbs are leaves.
1. All leaves e flowen.

v 1 Neither conclusion I nor II follows
X 2. Only conclusion I follows

X 2 Either conclusion I or II follows
X 4. Only conclusion IT follows

Q.5

Ans

Ans

Choose the missing character from the given alternatives.

Question |D : 723053617

AD2s| BE3s | CFis
DGss | EHgs | Flzs |
Glg s ? |ILios

X 1. KLos
v 2 HKos

X 3. Hlgs
X 4 KHos

Jﬁ‘

Q6 Find the missing term in the below number serie_s;,-"‘.[' 9,

Question D : 723053625

22, 23,27, 36, 52, 77, 113, , 226
X 1. 161
X 2176
W 162
X 4 167

Q.7

‘C S D' means E’i;_wthemother of D';
C # D! means *C is the father of D°;

Question 1D : 723053623

*C (@ D" means °C is the daughter of D",
Now. if P S Q #R @ S, then which of the following is NOT true?

& 1. P is mother-in-law of S
X 2 S is the wife of Q
X 3 R is Q’s daughter
v ¢ Q is the wife of S

Q.8

Ans

o M Eww el Pt @ T et @ AR wEen o S T 20 km WY T FO0T 30 km
wrr e T e w 0T S ot s et amp T e, 8T TR O S 25 km o ae T e
rmitndrmwl s v i W

Question D : 723053636

v 3
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Xa,l:@'
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Q% Choose the missing character from the given alternatives.

Question |0 723053629

Ans  of 1. 343
X 2 256
X 3 396
X 4 356

Q.10 ©onof e four grves abenarmves, choose the oot approprinte descrption aboot the thies words given below

BIBLE : GITA : QURAN

Question ID : 723053634

Ans X
They teach that Hindu, Muslims and Christians are different.

X 2. They are sacred books of a few Indians.
« 2 They are the holy books.
< 4 All of them are written in Urdu language.

e ——

&

Q.17 Five fitends — Geedta, Seetha, Preetia, Vesita and Rani — mlmmgml.mlubuhulum'bﬁmmﬁd
Vinithe, whereas Vanitha is sittisg fo fanis right. Then, who is sered 0 Preetha’s lefi?

Question D : 723053626

Ans 3 1. Rani
X 2. Vanitha
X 3. Seetha
v 4 Geetha

Q.12 Whiich fesratmil] b :nﬂzgngw__ﬁifﬁ-’s’a*m fiom he right end of the English alphaber series?

Question 1D : 723053621

Ans X 1 P
N2F
X3R
vis

Q.13 madmwﬁmmmmmmmmwmml
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Question |0 : 723053632

Ans ¢-|

ToE @t F O # T T O S 5F e 5 s 59 9 @
X2 S gU fRE W AEH FEar AR

X 3
H TS ¥ FEAT ORC F S Swer "y @ g )

X 4 gfErdr # ASES Fiar Fiee)

Q.14 l

Question D : 723053633




Find the missing term in the below series.

ZabY, XcdW, VefU, . RjiQ
ans o1 Tghs

X 2 ThgS

< 3. SghT

X 4 SheT

Q.15 IBIRLA = coded as 82513 and UMPIRE is coded as 457254, then what is the code for UMBRELLA?

Ans 1. 48659113

Question 1D : 723053628

< 2 48959113
< 3 48695113
v 1 48956113

Q.16 Read the following information carefully and answer the question given below.

o denotes ‘greater than™;

B denotes *less than';

¥ denotes ‘not greater than':
& denotes ‘equal to”;

i denotes ‘not less than”;

Y & 2Z and 32 ¥ X. then which of the following is true?
A o1 YBX

X23Ya 2X

K32ysx

X4 Yu2X

Question 1D :?m;'
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Question |0 ; 723053630

Ans 2 | G-
P 1
v
X a

o
n
o

W h B
=
p =

Q.18 1n a certain code, PAPER is written as QCSIW. How is HOSTEL written in the zame code? l

Question |D : 723053620

Az of 1. IQVXIR
X 2 IQUXIR
X< 2 IQVXIR
X 4 IQUXIQ

Q.19 == fwrs = wow = & A 3w i FE mie b B A gEn s o @ e
Ee el e

Question |0 ;723053627
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K 4 3T HLAT

Q.20

e s ooty and walks § o How fag i3 be oow frons his stacting poim™

Fumar walis 6 ke o e cast and then iens o the sonth i walk i He again rairs to de eaql sl wallen 2 km. e,
Question ID : 723053622

X 1105 km
v 2 10 km
X 3 12km
X 4 8 km

Sectian . General Awareness

Q.4

HERETATE # U7 e i ST W fr wurwer G # Question ID : 723053649

X 1. B AERE

X 2 FfFmof & ke
v o g arTes
X o anfAer FeoHE A @

Q.2

WA & e i wEreE o & B i aer r[ " Question ID:723053642

X 9T F FTF g
X2 9qIE & qUTHAS

v @ 9T F Tegufa

X 4 9IE & 39 TSeufa

Q.3

HAFMTY ‘Tﬁlﬁ‘-‘l'i‘ e e # e ﬁ"? [ Question ID : 723053641

X 1T e
X 2 ¥

v o R
X 4 Foles

0.4

FEY forare ared O Ry v = I ¥ duw H 9 Question ID : 723053637

X 1. guY e S
v 2 greTsTs AR
X 3 FgFAS 3T e
X 4 FET AlgT AreET

Q.5

AvEw e v & Ae e S fiw d fon o s AW e @ s
FOET & i i wmwan & far fe T T e b Question |D : 723053655




v 1 faeg &% (World Bank)

X 2 ZAAF (UNICEF)
X & IEET FFT P (IMF)

X + g e "@ued (WHO)

0.6

s Fefmen nfie vie frafRfts i oo & F e gt 7

Question |01 723053648

v fREr
X 2 IEaE
Ka.qa';m
X 4w

Q.7

Wgﬁ:r«ﬂmuwﬁmmﬁ?[

Question |0 : 723053647

X 1. AT

2

v 2 SR\
X 3 HEA

X4 Frmels

0.8

w2018 A% sidTE & mi w6 A T Fae T = B Bes amee

Question |D : 723053651

X e HREs
b mﬁg
X 5 3Fe TEE

Fegl TET e W Tow # R 7|

Question D : 723053640

X . qffes Femer
X 2. 3eaT ger
v i FeT weer
X 4 TodrEeTe

Q.10

Which mirror is used in the headlight of cars?

Question |D : 723053652

< 1. Rectangle mirror
v 2 Concave mirror
& 3. Convex mirror
X 4 Plane mirror

| lam




2018 iy oy ol A wiw wiseEw o e e frove (smiplie) i fiesr & v A o i

Question |0 723053646
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Ans .{1 6
X2 3
X32
X9

AR TR

Question |D : 723053643
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Ans x.la_u(r
X 2 e
X 3 mrETEer
v o iy s

s

Q.14 =% 2018-19 # fw 57 & fv oy Res @ sftsan R 770 = 77 famr o £7

Question ID : 723053656

ans X 1. T 3,500
X 2 34,200
V1% 3,700
X4 T 3,100

Q.15 ymbony = faftore T & fie oS ofie 0 3 frdsh o frfe sftfre (vefam)
ZATT WA # ooy

Question |D 1723053645

e K 1 1923
< 2 1981
X 3 1963
v 4 1947

Q16 Where is the headquarters of UNICEF located? [

Question |D 723053653

Ans 1. Shanghai
X 2 London
v 2 New York
X 4 Paris
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Ans ?{-1 7
X232
X33
vk

saction - Arithmetic Ability

Q.1 ;
E+l+l+i+l+l +i+; is equal to: l Question |D : 723053660 J
2 5 g 11 20 41 110 1840
Ans X, 16
X218
vl
<42
2 mfx AT TATTHE o = F A o e w g A
9 S Ll ik by b ekt Question D : 723053657 J
Ans of 1225

X2 169
X 3 289
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Question |D 1723053668

A X'1..8
X2 82
v 742
x47
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w K125
2 36
X3 32
v+ 30
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Question |0 723053666

Ans o1 8%
X2 12%
X3 9%
X 4 10%
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X420 &=

Q.9

¥ S ¥ . )
The value of 212" —(@127 (”*2“"‘13) e [ Question 1D : 723053658 ]
(0.25)% +(0.25)(19.99) 3.6%0.02

Ans  of 10.8
X212
X304
X406

Q.10 Two allos A sad T coutain copper s finc ba the o 4 1 aod 3 2 3, pespecively. They are mibxed bn the matio 9 410 ‘I

1 2 pew alloy © Wihat {3 the ratior of copper and Fine in alley C7 Question D ; 723053664
Ans  of 1. 87:43
K2 13:12
X317:18
MX416:17

Q.11 The sum and differeace of LOM sod HOF of rivo sambers ace 597 and 513, sespectavely, 1 the difference of the g F=
utirbers X ad their s i3 296 then the value of T s Question |D : 723053662

Ans X 1. 148 e
X 2 37 X L O
X3 111 > Y¢ 1_.,ﬁ
v 74 A0 Y

Q.12
Question 1D : 723053661

1
On simplification. T—=5— reduces to:
T .
] ‘1‘%
Ans .( 1. 9
X2 45
1
P ;

1
4 =
X4 2

Q.13

The value of SH2HZ-26-0+8)-1015 | | L i 1D 72083658 J
3+2(20-(20+3)+2of4s)+4

Ans  of 1 0.3and 0.4
A 2 0.1 and 0.2
X 3 02and0.3
A 4 04and0.5

Q.14 13600 = FEvE oy w== & i o ot o o Bt o weOmte & e R L6456
= §| 7% A wh vt I o T 0 EEm & R i Question D : 723053667

Ans X 1. 15,840
X 2 14,840
v 1 ¥14,960




X 4T 14,980

Comprehension:
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SubQuestion No: 15

Y zaea faemT # w1 W= Er Aigenst Fr | Question ID : 723053672
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[~ X 2:9




X25:2

K3110:9
vi5:4
Comprehension:

Study the following pie chart and table and answer the questions that
follow.

The following table shows the respective ratio of males to females in
each department of a company.

Department | Males : females
Production 11:8
HR 8:7
IT 35
Marketing 7:4
Accounts b

Percentage wise breakup of employees in various departments
Total number of employees = 2850 :

4 n @

ACCOUNE
14K

o

® Prodiction ®Accounts WIT ®Marketing @ HR

SubQuestion No: 16

@1 The total number of females working in the HR Question ID : 723053673

department and the total number of males working
in the Accounts department forms approximately
how much percent of the total number of female
employees in the company?

Ans X 1. 16.4%

X 2 15.8%

X 3. 16.2%

v i 17.8%

Comprehension:




Study the following graph which shows percent profit earned by six
companies during 2011 and 2012. And answer the questions that follow.

Profit = Income — Expenditure

Income-Expenditure

% profit = x 100
Pr Expenditure
70
B0
85
.
S 40
e
23 —2012
g e 20111
Ej’ 20
10
o
A B C D E F
Companies

i

SubQuestion No: 17

%1 The expenditures of company A in 2011 and 2012 el s

were ¥ 21 crores and T 25 crores, respectively.
What was the total income of the company iuﬂ!w:-:
two years? (in crores of rupees)

Ans: X 1. 7052

X 2 70.82

v 3 60.85

X 4+ 60.55

Comprehension:




Study the following graph which shows percent profit earned by six
companies during 2011 and 2012. And answer the questions that follow.

Profit = Income — Expenditure

Income-Expenditure

% profit = x 100
Pr Expenditure
70
B0
85
-
S 40
e
23 —2012
g —2011
E 20
10
o
A 2] C D E F
Companies

SubQuestion No: 18

&1 If the expenditure of company E in 2011 and 2012

_ Question |0 : 723053675
was the same. then what was the ratio of mcomas

of the company in the same years respecuwly"
e N 1290531
X29:10
Vs 28:31
X4 8: Ll

Comprehension:
Study the following graph and answer the question that follows.

Target and Actual Productionof Air Conditioners
(in 1000) of a factory over the period of six months

N Targer BACUS

65
55 57
53
I I i? | I I
June

March April

obBB888E 3

SubQuestion No: 19

Q.4
| [ Question 10 723053679




® What is the difference between the total targeted

production for February. April and May and the
actual production in thousand for January, March
and June?

et N 22
v 18
K329
X424

Comprehension:
Study the following graph and answer the question that follows.

Target and Actual Production of Air Conditioners
(in 1000) of a factory over the period of six months

B Targer ®ACUS

80 55 53 4 50
50
43

30

20

10

o

March April

SubQuestion Mo : 20

uﬁz The combined actual pr{)d‘l.lcl’iﬂn of air l Question 1D : 723053678
conditioners in February and June is what percent

less than the combined targeted production in
January. March and May?
Ans X 1.110.8%
X 2 212%
V' 20.8%
X 4 20.4%

Section | General English

@1 Choose the word that is correctly spelt. Question ID : 723053692

Ans B 1 grammer
v 7 irrelevant
X 3 imediate
X 4 recieve

0.2
Question 1D : 723053681




Choose the appropriate antonym of:

avoid
Ans X 1. discover
X 2 kill
X 3 dodge

v 4 seek

Q.3 Fill in the blank with the appropriste word.

On Sudays | have my breakfast in bed and spend the moming relaxing with a book,

Question |D : 723053685

Ans 3 1. rapidly
X 2 frequently
X 3 gradually
W + usually

0.4 Chocss the mist approprase indirec samstion for de following sentence
R s, =D vois iesberitand ol rhis fobs (7 | eeed 0 beatt four leam mdmsbers 1o compdee il within five days”

Questmn ﬁf wzﬁaam

AT

Ans X']I

Rand sy, Do yom undersaand how diffboult this job 57 [ needed wt least four seam members fo complete o within
five days.”

v:

n.n-immmmwmﬁmm,&wmﬁm«uﬂum.:mum|mmmn

Question |0 723053686

complete it within five days. B .
o 1 4

x3 ' N

mﬁmuummmmmmmmmmammam”wm

five duns d
X4

Farva asked o vn) s stacsd beonw S fTicdt thes jorb 247 | et 8 Jeast fsnes Dearm) anemubers I cowplete 2 within five days.

s
Q.5 h&lloibunmﬂm!wm&;wjgmh!bmdﬂhndhﬂhhmmﬂﬂnﬂnhhmﬂuﬂ

wpl'mal!'m.hmmq\'wgi-l-'- 1y

O i destney weslts mutwmmmhﬂhﬂnﬂ

wonity n mussm) {0, el ;

slawry uf wealth

X 3. means to an end
X 4 One who desires

Q.6 Fill in the blank with the appropriate idiomatic expression. l

Question ID : 723053693

Why are you 2 You paid no heed when you were warmed so many times.
Ans o 1. crying over spilt milk
X 2. giving yourself airs

/< 3. beating about the bush

X 4 chicken- hearted

Q7 Choose the correct synonym of:

Question ID : 723053680

oration
| Ans




< 1. silence

X 2. attraction
v @ speech
X 4. dialogue
Q-8 Fill in the blank with the appropriate word’s. Question ID : 723053684
Did your college in the university tournament?

Ans X 1. participated
W 2 participate
X 3. participating
< 4. are participating

Q9 Choose the best option to combine the given sentences.

Question ID :723053690

Ritu felt very offended. She stopped talking to her friend. oy
Ans  of -
Ritu felt so offended that she stopped talking to her friend. 4 79 @ )

x 2. &
Ritu felt too offended she that stopped talking to her ﬁ'ie:_;d;:;"

Ritu felt very offended because she stopped talking to her friend.
X 4 @
Rim felt very offended that she stopped talking to her friend.

Q.10 Fill in the blank with thegormect word.
| ; ) [ Question |0 ;723053683

The match was miﬂfﬂﬂ'ﬂ.ﬂﬁpmﬂd easily predict who would be wingner,
Ans X 1 g
v 7 the
X 3 an
X 4 some

Q.11 Choose the passive voice form of the gi ,
- o Rt Question ID : 723053688

My colleague and I decided we would continue our efforts to conguer the seas.

Ans B

My colleague and I decided we will continue our efforts to conquer the seas.

v

It was decided by my colleague and me that we would contimse our efforts to conguer the seas,

X

It is decided by my colleague and me to continue our efforts to conguer the seas.

X a

My colleague and I decided we would be continuing our efforts to conquer the seas.

Q.12
Question |0 : 723053687




I the fodlowing sentonce S wonds or phowes have boeo usderkined. One of them i incomect, Chovse the oomect
wiopd o phrase from the grven ptions.

[2 was a near - impossible misseon. and poce moye fite hagded oz » fuidwe when [ could sex the Einizh line md
gt b o

Ans (1. pnce more
X 2 handed me
v 2 expect to win

X 4 1 could see

Q13 Fill in the blank with the appropriate idiomatic expression. [

Question |D 1723053694

ViratKohliis  most batsmen in the world.
Ans X 1. hard and fast
X 2. keeping an eye on
X 3. leaving no stone unturned
+ 4 head and shoulders above

Q.14 Choose the corect antonym of the underlined word to fill in the blank, [

It booked as if the answer to the quiz question was obyipus but it turmned out to be

Ans X 1. persuasion
X 2 predictable

Question |D : 723053691

X 3. transparent { %
+ 4 ambiguous -
o
Q15 Choose the passage that is correctly punctuated.
Ans X y
Jt'l.nl;;ﬂj':hrt amf wizdy. M_ﬂ'}hﬁdﬂkn}mm shotted Motier! 11's going o min. Let's man indoors
quiciy. 2" "N
Xz &
Trwas vevy dark i umuwummm “mother 0" gossg 1o min Let's an indoors
quickiy” I

( 3

e et very clake s il Aantha saw e dack chonds and shouted, “Mother! s godng %o rati Let's nea indoors
quickly”

< 4
It was very dark and windy. Amstha saw the dark cloads and shoated, “Mother? I8 going to rn. Let's nm mdoons
ekl

Comprehension:




Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how you can become more
conscious: I call it meditation. Working. walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it, because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are. do it more consciously.

Just trv for few minutes to walk consciously: be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
your relaxed walking. And the more you become aware of this joy, the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in: men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them., unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need, the hunger is gone. he is content.

SubQuestion No: 16

Q.1 o . ,
6 One who is 15 an aware persoun. Question D 1723053700

Ans X 1. eats unconsciously
2 alwaysalert
X 3. always tense
X 4 temibly overweight

e — =

Comprehension:




Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how you can become more
conscious: I call it meditation. Working. walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it, because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are. do it more consciously.

Just trv for few minutes to walk consciously: be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
your relaxed walking. And the more you become aware of this joy, the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in: men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them, unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need, the hunger is gone. he is content.

SubQuestion No: 17

Q.1 : :
5 Choose the most suitable option to complete the Question D 1723053697

sentence given below.

When meditation is done with awareness, it:
Ans X 1. is quite time consuming.
X 2 makes you a forgetful person.
X 3 is painful and tedious.

v ¢ gives a great deal of satisfaction.

Comprehension:




Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how you can become more
conscious: I call it meditation. Working. walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it, because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are. do it more consciously.

Just trv for few minutes to walk consciously: be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
your relaxed walking. And the more you become aware of this joy, the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in: men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them., unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need, the hunger is gone. he is content.

SubQuestion No: 18

Q.1 : :
g Choose the most suitable option to answer the Question ID : 723053698

question given below.

What is the iony of life mentioned by the writer?
Ans 2 1 Many people are dying in Ethiopia
& 2 Many Americans are dying due to overeating

While some people die of hunger, others die of
overeating

X 4 Awareness is essential but it has no effect

Comprehension:




Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how you can become more
conscious: I call it meditation. Working. walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it, because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are. do it more consciously.

Just trv for few minutes to walk consciously: be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
your relaxed walking. And the more you become aware of this joy, the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in: men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them, unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need, the hunger is gone. he is content.

SubQuestion No: 19

Q.1 : :
g Choose the most suitable option to answer the Question ID : 723053699

question given below.

What should you NOT do if you are obese?
Ans < 1. Resist eating too much
« © Be led by your love for food
X 3. Eat only what your body needs
X 4 Consult a doctor

Comprehension:




Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how you can become more
conscious: I call it meditation. Working. walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it, because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are. do it more consciously.

Just trv for few minutes to walk consciously: be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
your relaxed walking. And the more you become aware of this joy, the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in: men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them., unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need, the hunger is gone. he is content.

SubQuestion No : 20

qz " L,
o Complete the sentence by choosing a suitable Question D 1723053696

option.

The writer believes that meditation
Ans 2 1 needs to be done for only 20 minutes a day
« © isa process that requires consciousness
X 3. must be done many times during the day

X 4 can be done only when you are walking

n . General Hindi

Comprehension:




ffafRa sre@mer # cuegEs 9gat 8 T FeAl & ek
e

EH TH W T H S @B, R RS sifas wafE sl
FA% W g, a gAY WE AREAE IaqT H 72T g
AT # 3 AT FHA H g 75 IR
IS AT ¢ AT T8 s=omT & INEaT & 9ewar @ar
¢ ¥ FHT A Fe Whaar AR gu-aify fr carw ¥ g
e 3F AAAF W H RNeR a7 7 @ E TFE @
o SFT & 57 919 FT AT g g7 H Fhaar 9red
TR FET F w3 e # WruRor FIHATRT Fr g
# o g, a7 i ogse Ak gowe= o a@n o g
MHRAES 50 a9 H FHST AT F sRoa v Foure
FT AT & THeIdT Fel g1 59 d% &H U e 7 aAfdw T
Imewfens Hear &1 8o 7ET FET, a9 a6 JUTT qeear 95T
gAY e Afwe & 781, 3Rg rwsE F g Sweem, it
e Aeat & 9Icd FhAAr Sad AU @ & WA @ g
Fo fatemard &l & FEer ¢ & &F "6 78 @ Fea,
Faifr gANT deaR a1 IR & O € g afe g7 Her
ey WaT 3% 30 39 874 & fer & ar O gwear =T
FAN 3T FeTHt TN | T gl g AJT H FeAag
YR ¥, Ty IR F e Rweant & ey F & s
W@, a8 FGeiar @ Fr ZIffer AT T 9ver| T Awerarsit
r ’ar 7 Fi, FifE T A gAR Shaa o7 died § 3 guy
a1 F1eT §, F§ TR JUH HOT F TR AL & 9T, )

diest & T e = 95 &, SufoT @i 39S F8 g #+r
THA W@ NN e A FRT gl Fer s arar g &F Shaa A

HHRIcHS FITAT A Jrar 1 F3fr g 787 g

SubQuestion No : 1

Q.1 [
TIYF 997 F FHOT T | Question ID : 723053703

i il seoId
X 2 ymemfers e
X 3 gareaeier e




X & e FFaT # Fgex &

Comprehension:

fafaf@a e i cuwgEs 9ga 8 T 99l & ool
AIELD ]

g TH QT H S @ E, R & RS sifw wafE sl
FO% W ¢, dF gHY TWE RS I H T2Ts L
HTAHEIOT H 3o AT FEAN H A7 7§ IR
WISAr EaT § A9 a8 s=orst & A & sewar '&ar
¢l XX THT A T Whorar AR gu-aifa fr caw ¥ g
AFT 3 AATEF W FT RFR 9707 71 T E AN X
fraar Tt & 37 919 &1 AT g Hr SAadT A Gherar 9
FE JAT & s e Shas # §ruwor st @ g
& form &, 97 e ¥gse AR wwee s @l o g
mwmﬂma@vﬁ:aﬁaﬁmﬁm
FT AT & THEIAT FA¢T 81 9 d9F g5 U Siaq A afaw 9
Hrewtfens Aeal &1 fHaa 767 ST, J9 g TUrT Therar e
gAR o gRwa & a8, afg rwse & @ s, F=ifs
faer Aeat & ured Ahear Fae HURER W F WA E g
FT FREE] d # FEr ¢ & g WhA A4 @ Fha,
FiH AN F@ar ar aRfeufaar & & 81 g afE & e
eI @RTT & 30 ¥ux A7 A e o, a T awear =T
gAI 3R Tolent HTTM| T gl g AJT H oA AL
FO@R ¢, g I &7 3 RweaEt & ¥ F & @
&, A Ahordr &t Fafr gIfder Fgr T e e FAwerarHt
fr BT 7 =, FiF T ar gay NEa o7 ey Tk guy
Naa & FeT §, F$ R YUH HuT F TR AT e 9I 4T, 3W
disa & foT T & 95 €, $HTOT Wed AU @R &
THA @ FN T I g gl Fgr s g & Faa &
HFRIcHS FHIFALT FA Jrar Hr Fafr g A787 g

SubQuestion No : 2

O qrfpufast # sEwear & FROT A § Question ID :723053704

M 1 former T
X 2 FATT AT




X 3 srmefrer areT
X + cgfass =afEa

Comprehension:

@ g # caeEs gt 98 7T WAl & Il
SR

gH TH U I H S @ 8, TR wF % sifas wafE sl
FOE 9 g, O GEY oG AIREE 97 H MRS 2l
YAPIHOT H I AT FhoIar H g 7§ afemee
GISTaT @1 § A9 g soon & IReae &§ sieswhar @
gl T AT # T Hhodn 3R g@-anifa B surw | sange
T 3% AARF W & RN a7ar =71 /W 7T F
fraer S FF W a1F T AA ¢ Hr NGT F FheIar 9od
FET AT TFe Shaw e, I8 St e a8 98
FEI FET F THa 39 SAaa # GTaNeT FHEATHT F g
o @, 97 Quia: e AR gwe o @ T &
mwmﬁmmﬁ;mmﬁm
FT T & Tl Fgl ¢ 9 I gH A A J Afaw T
meaTfcRs Hedl &1 fl=e 76 HGE1, a8 a6 T @hear 9T
g f fewe & 7@, g swiv R @ e, w=ifh
far #eal F 9I°T FhAAr Fa ATURR §W@ & WA @l gl
Fo AREED SE # g ¢ g ahe A8 @ ah,
Fifs FANT dmar ar aRfEufaar & o §) g afe gw v
oy g =% 3% 39a A7 & fer &, at B gwear =T
FAN 3T Tolet TN | Tl gl g AT H oA da
FFER &, W I &7 36l et & an 7 & w=
T, A WEAAT F F @S FEF FT A 3 RAseransit
r A 7 T, Fifs T ar gan shaw #1 dicy 3t gud
Sae &7 F1eT g, H§ aN TUH HOT H Tl AG € I, 3H
A F T U w95 €, $HOT Hed WS T8 H
THA T@ A dga A SRA gl Far o rar g & Shaw &
HHIHS ST FI Jreir $r Fsir g7 Far 2rdri

SubQuestion No: 3

Q.3 ‘g Eﬁgﬂ' a; ﬁ'ﬂ' a% HTETT m qga' %‘“ I Question 1D : 723053706

FT HTAT &




| | 1. BRaR o7 =S @l
X 2 far wgraary gere
X 3. fATaT Tear arEa @
X 4 ToET =9 9 g &

Comprehension:

fafaf@a ez # caagEs 9ga 98 7T T2Al & 3ok
e

B TH R T H S @ B, TR wF 1% sifas wafE sl
FaT% W g, af GEY a6 TREF qae TS 2
ITYTABIHIT F 35T AAT HhoAaT $1 fod 73 TN
WI=TdT T&aT & U= 3deld S=orl & IPEde # deahar @ar
gl T8 AT # F=d @hadr 3R ga-enifa & s & g
afed e AATE W 1 NP ao1ar o1 W gAx T
foraer o9 & S/ a9 T AT & Fr AT H FheldT ood
HTAT AT TPl S AT, g AT HAT-37e0T ad & T
TR T84T F former 399 e # GIRuT STHEAET S g
& o g, ag i wgee AR gue o gn e gd
memﬁmaﬁv%mmﬁm
FT AT &I Hholdl gl g1 39 d% gH U siad H afas T
eATicHs Hedr &1 f8e 781 F3ET, T 9% TS FhAdT I
foar Hedl & 9o Fwedar Fad Wﬁ?ﬁﬁﬁﬁmﬁ‘cﬁﬁ'l
FT AR ool 1 Fger § B g7 Wb @ @ Fha,
Fifes gandr awar a1 aRfeufaar & & &) g afe & awer
T AR = 3T 397 A7 # fer o, ar T gwear =
gAY T T M| Fhel Bl & AT o A
FOFER &, R IR & 3 Rverast & X F & d=d
I, O A%erar ot Felt gIfler g T areer| T fawerarat
T BT 7 #, T T o gAY Shaa F diey § ot gy
Shae & &ed ¢, F§ a% TUH AU # TR 7¢T & T, 30

drsa & T UT = 95 8, SAfT WG WU d T &
THA @ HN Toad Fr g gl Far s s g & s &

HFRIcHE TN T aTaT S et g Far ardrl




SubQuestion No : 4

M eaforeTT T dT o7 A & Question D : 723053705

Ans of 1 FHHOIAT
X 2 Rywerar
X 3 fmem
/< 4 garem

Comprehension:

®




ffafRa sre@mer # cuegEs 9gat 8 T FeAl & ek
e

EH TH W T H S @B, R RS sifas wafE sl
FA% W g, a gAY WE AREAE IaqT H 72T g
AT # 3 AT FHA H g 75 IR
IS AT ¢ AT T8 s=omT & INEaT & 9ewar @ar
¢ ¥ FHT A Fe Whaar AR gu-aify fr carw ¥ g
e 3F AAAF W H RNeR a7 7 @ E TFE @
o SFT & 57 919 FT AT g g7 H Fhaar 9red
TR FET F w3 e # WruRor FIHATRT Fr g
# o g, a7 i ogse Ak gowe= o a@n o g
MHRAES 50 a9 H FHST AT F sRoa v Foure
FT AT & THeIdT Fel g1 59 d% &H U e 7 aAfdw T
Imewfens Hear &1 8o 7ET FET, a9 a6 JUTT qeear 95T
gAY e Afwe & 781, 3Rg rwsE F g Sweem, it
e Aeat & 9Icd FhAAr Sad AU @ & WA @ g
Fo fatemard &l & FEer ¢ & &F "6 78 @ Fea,
Faifr gANT deaR a1 IR & O € g afe g7 Her
ey WaT 3% 30 39 874 & fer & ar O gwear =T
FAN 3T FeTHt TN | T gl g AJT H FeAag
YR ¥, Ty IR F e Rweant & ey F & s
W@, a8 FGeiar @ Fr ZIffer AT T 9ver| T Awerarsit
r ’ar 7 Fi, FifE T A gAR Shaa o7 died § 3 guy
a1 F1eT §, F§ TR JUH HOT F TR AL & 9T, )

diest & T e = 95 &, SufoT @i 39S F8 g #+r
THA W@ NN e A FRT gl Fer s arar g &F Shaa A

HHRIcHS FITAT A Jrar 1 F3fr g 787 g

SubQuestion No: 5

Q.5 TaTey TFarar Haar %—. | Question D : 723053702

M X oot frofd @
X 2 smyferdreor $ wafe &
v o AfaE Fodt @ aEs &




X« sifos T &

1 gt SO FErEY w1 HS @
XK aTe & wEmar ¥ I SE
X 2 30 & I
X 2 greTel g HATr
v\ gHeA g

Question D : 723053720

T foEd W A 3 e &
Ans XT a'ﬁﬁ

v sfa

X sifafta

X« wfmy

Question ID : 723053716

W @R weE T e ¥
Ans X 1. THETETT

&JESE@!_‘J 1D 723053715

O =g gy T IW T A ARSI AT T
s X e & HH AT

X 2 0 @ ST

v S T AT

X 4 T FHAAT

Question ID ;723053721

M ey wgE # wgEd @ AT e
Ans S 1. el

X2 3

v e

}(4.:T|?|-

Question |D 1 723053712

M SrAfafRE F ¥ FE-ar e TR 32
ms 1 AT
X2 g

Question ID : 723053717




X 3 AT
X 4 g

Q.12 W e - FIF-TT FATH %'7 Question ID ;: 723053709

e X . deeY
X 2. gdecd

X o FgE
v FduRY

.13 ¢ .
Afea@T st a9 YA Fr oifew: Question ID : 723053719

Ans

X . AY F THHT IcaT Fer AT

X 2 wat @ @ AL F G =T
qfa.mmmag?rﬁma'm"w‘n
X4 3y 4 e TR

14 : ; :
0 Cafaflg § ¥ seIEE G aeg fY 9T #:1 Question ID : 723053713

e X e
X2 ®X
v i @
X4 W

O ST & | Sl o g‘%‘T 2 | Question ID : 723053718

Ans J|qg|—q-
X 2 IS
X 5 TIHF

X“-iﬂ?

Q18 ofeg, FT JITTSTET eE 7l & | Question 1D : 723053714

el EEL
v 2w
X 3 |G
A

V7 e F FgaIT (¥EaEa) g [ Question ID : 723053711

Ans x.l_ mﬁ'ﬂ'w




X 2 ferat
v A
K 4 gforaT

U szmger #1 WY R=de @M

Question ID : 723053710

Ans 1. FE+aao
X 2. 3T+
W 2 I+
X 4 3g+Iad

O oafafle & ¥ ‘g arﬁﬂmﬂaﬁ'll

Question |D : 723053707

Ans X 1. \IT
X2 mrg
X 2 =g
v

q

W eeRRE Ay A |

~Question ID ;723053708

ans X 1. QR
v %
X qF
X fow

Section  Subjest Ralated

u.-'l Let A = T\ (1) denone 2 sef ol all NIOM-rere imegery. Let * be the relation on A = A defined by (a,b) = {c,d if
ad = b Thest™ ji

Question |0 : 723053734

Ans X 1. reflexive, antisymmetric and transitive
X 2 reflexive, transitive but not symmetric
« . an equivalence relation

X 4 reflexive, symmetric but not transitive

Q.2 LetplA) bethe power dstal nset A (1. 2,...5], The numiber of distines eleusats of the ssb-collevtion of p{A). whers
each ehensent of hat eboolierting consiss of | and 2 other clenent of A s

Question |D 723053730

Ans "'1 6
X225
X338
X4 4

Q.2 The relation betweenthesets A= {2 3. 4 S}andB = {1,2 3 .9} is

Question ID : 723053722

As of 1. ACB




X2 AUB=A
X3 ANB=B
Xa ADB

0.4
Ans

The possible number of relations fromaset A= {u, v, wltoaset B = {3y} is:

Question |D : 723053733

X116
X216
X3 32
v i 64

Q.5

Lot = {0, 2, 30 A function [ froes A io A b defissd by £(1) = 2. f(2) = 1 and f{3) = 3, The inverie of the
funceion [ b

Question |D : 723053738

X {(1,2), 2, 1), (2. 3)}
V2 {(1,2).(2.1).G.3))
X3 {(1,2),(2,2). 3,3)}
X e {(1,1), 2, 1). (3. 3)}

Q.6

If A and B are finite sets, then (A U B) and (A N B) are finite and n{A U B) is equal to:

Question ID. - 723053726

Z 1. n(A) +n(B)
v 2 n(A) +n(B)—n(ANB)
X 3 n(AnB)—n(A) +n(B)
X 4 n(A) —n(B)

Q.7
Ans

.

When n{A) = 3 and n(B) = 5, ten the namber of igection funcrions that can be defloed from A w0 B b

X130

Question |D ;723053739

X2 120
X 3 40
v 4 60

0.8
Ans

LetR be Iuﬁhwlﬂi- [234,6], defined as =& divides ¥ ™. Then n et of ordered padrs is of the form:

X1 {(2.4). (2:6). (3.3). (3.6). (4.6)}

Question D : 723053732

v 2 {(2.2). (2,9). (2.6). (3.3). (3.6). (4.4). (6.6)}
X 3 {(2.4). (2.6). (3.6). (4.2). (4.6). (6.2). (6.3)}
X 4 {(2:4). (2:6). (3.6). (4.6)}

Q.9

Ans

LetBo= ({00} (120 (133, {24k (3.2)) and 5 = {130 (14% (230 (3,10 (4.1)] be the relations on asel A = {1,234},
The composation SoRt of B md S e

Question ID ; 723053736

X1 {(1.1), (1,3), (1.2). (2.1). (3.3)}
K 2 {(1,1). (1.2). (L4). (2.1). 3.3)}
v 5 {(L.1). (1.3). (1.4). 2.1). (3.3)}
X4 {(1.2). (1.3), (1.4). (2.1). (3.3)}

0.10 The number of subsets of the set A = | 23,35 ......8,] which contain sven nimber of elements is:

Question |D : 723053723




Q.11 Using mathematical induction, the value of 2 ~ 5 <8 +.....~ (3n—1) comes out to be;
s Question 1D : 723053741
’ n(3n—1)

B 5

n(n+ 2)
K==

n(2n+1)

p 1

v A n(3n+1) _
2 & B 1

Question 1D ;723053725 : ]

Q.12 Consider n{L7) = 80, niA) = 40, n(B) = 5% and n(A 1 B} = 20 Then the vahue of n{A®BE) is:
Ans X 1. 25 l :
X2 45 4 7o
v 55 . L
X 4 35 \

Q.13 1he formmila E]ulnscmﬁﬁﬂmmﬁhmolhmufmhf =
comglensent. Then the formrula for the union A U B in tersns of the operations of innemection and eomplemen s

Question |D ;723053729 ]

Ans of 1 (A€ nBS)E
X2 (AnBS)¢
X3 ASNBC .
N4 ACNE

. tion ID : 723053724
is equal to: [ S ]

X1 ((AnB)UB)
X2 ((AUB)NnA)

x+ @)
Q)

-a_'|5 Leg 7t be a relation from o set A = [1,2,54) o2 set B = {wywox) defined by Bo= [{ L), (1) (3,50, (3, (400).
The domain of B and rnpe of B, an, nespactively: l

Question ID : 723053735 ]

Ans x % {1=3:4}; {U.W_X}
X 2 {1,2,4}; {u,vx}
X 3 {1.2,3.4}; {uv.w.x}




v 4 {1,3.4}; {uvx}

Q.16 The power set of a set A having four distinct elements is: [

Question |0 1723053727

Ans X 1. 32
v 16
X238
X414

Q.17 Let U= {1,2,....%) ‘be the universal set. Let A= {1,256} B= (257 mnd C= I"I.J.SJ.PLM[%C) o I

Question D : 723053728

Ans - X 1. {1,6}
X2 {23,679}
X3 {1.6,7}
v {3,9}

#
==

o - -

914 Consider n{L7) = 20, n{A) = 12, n(B) = 9 and n{A N B) = 4. Then the value nﬁ_r.n{i;] |

Question ID :723053731
- —

-

Question |0 : 723053740

x 5 4 ._..I I... II.‘-. .
X422

Ans X 1. 11
X217
Vs P i
x 4 3 ._‘_-".-..'-j‘. I-:1._I:' I-;-:.“.'-.
Q.19 17 v 2 fuction satisfying 2f(x) — 37 (1) = 2* fmqmmd;mwmﬂ?@}’ﬂﬁl
= g
i ;
8
=5
o T =
+

Q.20 ]rmah-md&mmnutmBm-nmn.mnmmmmoummﬁwdwntl
Ans 3¢ 1. mn

Question |D ;723053737

X2 mn
X 3 pmn
v 4 pm

Section ! Subject Related

Q.1 the sizn and product of amy tao distinet complex mumbers are 4 and § respectively, then the mumberns are-

Question ID : 723053759

Ane X 1.2+ 3i; 2—3i
X21+2i3-2i
X33+2i;1-2i
4 2+ 2i;2-2i




QF The mumiber of odd taree-digit positive iobegers tiat liave tio repested diaits
i o ger e ne R l Question D : 723053748

Ans X 1. 160

X 2128
v 3 320
X 4 240

@3 The rectangular form of 10£ — 30° is given by: l Question ID : 723053756

e X1 —5v3 4 5i
X 2 —5y3—5i
v 3 535§
X 4 53+ 5i

Q.4  Thwe oumber of words that cam be formed by ining the betters off the word “MATHIDMATICS” that start. an well as end p—
T Question ID : 723053744 =

Ans X 1. 80,720 N W

v 2. 90,720 ~Q)
X 2 20,860 '

X 4 37,528 * 4

s f: ._. -

b

0.5 hhutnqﬂqpcmfgﬂEMm-ﬁThﬂﬁsﬁ&HnulmuﬂquNDIhﬁuhiumFg’@-- e
' 1 Question |0 : 723053751

Ans 1 71X 7! ways > A \
X 2 6! ways &
X 3. 6! X 6! ways
o o 6! X 7! ways

Q.6 " {1+ zi}" [

How do e express ﬁ—'-r—— = .'!EEI—:'i)'I in the form of a complex number a + ib? Question |D : 723053752

G-
e G)-()
e G)il)

Q-7 Using mathematical induction, the value of 1% + 2% + --n? jg. Gusstion 10 - 723053742

e n’(n+1)*
v e
X2 n(n+1)2n+1)
6




Q.8 The number of positive integers not exceeding 1,000, which are divisible by 7 or 11, is:

Question |0 : 723053746
Ans o 1. 220

X 2 240
<3 210
X 4120

Q.9 The number of permutations can be made out of the letters word “COMPUTER™ as:
Ans 2 110,080

Question D : 723053749

v 7 40.320

X3 720 Q>

X 45,040

Q.10 i n:i72
(1+2i) [ - :._;,_g’ues@ép“mmsusa?sa

The principal argument of the complex number O-G-n7 =
Ans X 1. —o0 | -___\:'-".";

X2 o ; .

vio0

X 41

Q.11 In how many ways can 12 balloons be distribufed at a bisthday party of 10 children?
iz et % PR Question D : 723053747

Ans 91 48 wayso o
X 2. 5.6“:511’31"' |

ﬁﬁﬁﬁﬁ

Q12 1 & is a complex cube root of unity, then the value of (1 — w)® is: Question ID : 723053761

Ao of 1. 27
X20
X3 -9
XK46

Q.13

2+i 2, | Question ID : 723053754
The polar form of the complex number (ﬁ:) is:

1 m T
;K 12 (cos~ + 1sm-—)
2 4 4

1 St
X2 -(cusf— ISIHE)
2 &4 &




PR T T
v ~(ms~+1sm~)
2 Z2 2

1 n P | ¢
X 4 -(cus— = 15111—)
2 2

2

.14 The mmsber o ways of choosisg. i cbjects out of (o ~ 1) object, of which = see identical s {220 ~ 1) are deict, b

Ans  of 1. 22m

Question D : 723053745

x 2. 2m+2
X 3. p2(m+1)

X4 g2m_q

Q.15 How many integer solutions are there for the equationx + y + z = Ii.wheul

xz20y20z207 Question |D : 723053743

L O |
X226
X315
v 4 136

e Ifarg(z + 2i) = f,arg(z -2i)= ?, then the value of z is: [ aA o :ﬁﬁm;g;ﬁk?ﬁhm?ﬁﬂ

Ans x 1. =1 o "'
Wvi2 79 %
x40 |

0.17 The mamber of ways to distribute 20 identical balls in 4 ﬁmmmmum beo remnains empty 5
l Question ID : 723053750

Ans  of 1 069
X 2 323 4
Xs som 4 i
X 46906 W

Q.18 lummmmuﬁdnmmmtu[1+|ﬂj.-ﬂmuﬂnmhhm
of the triangle. Thes e complin manbery riprewmsted by ofher verticn e Que_s‘im |D :?msa?sa

s X1 2+i0;V3—i
X2 3+i0;1 -3
Vi -2+0i;1-i3
X4 0+2i;1-iV3

e If :—:Dn = 1. then the smallest positive integer n is: Question 1D : 723053757
A X3

X21

X3 2

W4




| 1220 The modulus of the complex number (1 — cos ) + i sina is:l

Question ID : 723053755

e /< 1. sin (g)

X 2 cos (%)

X 32 2sina
v:2ond

Section ; Subject Related

%1 When 22°% s divided by 17. then the remainder is:

Question |0 : 723053770

s of 1.1
X25
o & B
X409

Q.2 Which is true with regard to the svsiem of the inequalities —— = 0.25; 2% < 0.57 [

=
. Question ID : 723053764

Ans X 1. x € (—05,0.5)
« 2 There is no solution
X 3 x €(—0.125,0.25)
X4 x<—050rx=05

Q3 The possible solution of the inequality |x + 1] + |x| > 3 is:

Question D : 723053763

e X1 x ¢ @ 0)
Xzxeg (*‘“%-23
Kixe(—o-1)u(,»=)
Vi x€ (—,-2)U (1,%)

Q4 1pe largest term in the Binomial expansion of (3 + 2x)%° when v = E s

Question 1D 1723053771

Ans  of 1 sixth term
X 2. eighth term
X 2 fifth term
X 4. third term

Q.5 e munber afrationad smd irvationst terms in the Binomial exy of (5% + 24)100 are respectively:

Question |0 : 723053768

A of 1 4,97
X2 8,93
X 36,95
X 415,86




Q.6 i
Ifthe 6™ term im the Binomial expansion of (_‘,1. x? fﬂﬂiul] is 3,600, then the value of ¥ is:
a

Question |0 - 723053767

Ans o g \E
X225
¥ 210
X445

Q.7 swposthata b cmem AP and o' b ¢’ meinGF Ha<b=cmd a+h+c= E,Ihnlh:rﬁ:m‘lughuh}:

Question D : 723053773 ]

Ans 1

Q8 The sum of the 24 terms of the series 2 + VB + V18 + V32 + - JE-[

" ‘Question ID:723053774 J

e X L 500& ;'-_I" L -

=

v 3 30012
X 4 200v2

Q.9 The sum of the m‘@’tﬂaﬁg&s’x +im§’x+ «« o, where x is real, is equal to: [

Question |0 1723053779 ]

we X 1din(1 doosx)”

v tn(cot(3))
X n ()

X 4 In(1+ cosx)

10 golve the absolute value inequality 3|2x+ 6] < 42.

Question |0 ;723053762 J

as X1 x € (52
Xzx e(=54)
X3 x €(-10,2)
v x €(-104)

an 1rninwm-hpmwﬁtb.-ﬁ@+ () = 2+ k2, then the value ot~ & n:

Question |D : 723053772

Ans




KLE

6
Xz.g
ng
Vi3

Q.12 The sm of the last 20 coafficients i the Rincmis expanion of (1 + 017, whes expanded in the asending powe of 1, i

Ans  OC 1. 918

Question 1D : 723053769

X 2 239
N 3917
o 2 938

£ T
C o
r - 1

e The sum of the series 1+%+§+%+ s+ 00 j§; l Question D ‘723053778 ¢ ]
Ans e

X = FR @

2 e

v 3e

X3 2e

Xae-1 d)

e

Q.14 3 24

The series x — ’;: i +X 4. converges in:

Question 1D : 723053781

T 5
e of 1 —1 < g8
X2 2x oo )
X <-S
X afxl>1

Q.15 s e T W O o -

Thesumoftheseries%—— —+-.——>.—+ - isequal to:

Question |D : 723053780

2722 32" 472%
Ans X 1. In(2)

e ()

X3n G)

v u()

Q.16 ke Couchy-Schwarz inequality 1o determine the value of 8" + b 4 ¢! wherea b c>0anda<b=c=}

Question |0 723053765 ]

Ans X 1. greater than 4
« 2 greater than or equal to 3




X 3. less than 2
< 4. less than or equal to 4

@7 The series whose nth term is of the form /(n® + 1) — V3 is: | Question ID - 723053775

Ans  of 1 Convergent
X 2 Oscillatory
X 3. Conditionally convergent
X 4 Divergent

Question D : 723053777

Q_'Ia IfA; and Ay mre two Arithmetic messs. and G, snd G5 are two Geometric mesns betwesn two positive sumbers & med b,
ﬂ:m.%?a s equal fo [

hae +b
y R
2ab

X2

a+b
a+b

ab P
ab n W ; J'ﬁ

X a 4 79 &7
a+b @ -.__'_ p

v

2ab » e

19 11 log 3. (x)log 4 i 7 e = 35, then the & .
Q 0gz(x) + log 35 (x)log 4,5(x) + - upto 7 terms  Joiog :9{ ‘igl[ it B TSRS

Ans  XK1. 25

X275
X 2125
vis

Q.20 73 wlm-:rpotﬁéﬁulﬂijf“' ity fx) = (x + Dx - 2)*(x +3) =0 15[

Question ID : 723053766

e of i € (3]
X2 x€(3,»)
X3 x €(—00,—3)
X4 xe(0,2)

Section | Subject Related

A1 o brsc ey sopimmotm et v o <omil b oo b |-mw.[ Question D ; 723053800
them e vakie o k i - - R

Ans x 1. 3
X21
X3 -2

vig

Q2 (




Let a, b and ¢ be real numbers such that & and b are distinet. Then the roots of the equation
Ma—-b® - 11a+b+clx—3(a—b) =0 are:

Question |0 723053793

« | Real and unequal

X 2. Real and equal

X 2 Both real and imaginary
X 4 Purely imaginary

Q.3

The sum of the positive infeger divisors of 200 and the mumber of positive mbeger divisors of 200, respectively, are:

v 1 465,12

Question |D : 723053788

X 2. 455,21
X 3. 456,12
X 4. 435,21

0.4

Ans

If a, b and ¢ are real numbers, then both the roots of the equation [

Question |D 1723053794

(x—a)x—B+x-—bx-c)+{x—-c)x—a)=0
v 1 Are real
# 2 Do not exist
X 3. Are positive
/< 4 Are negative

Q.5

The msmber of real vabues of X satisfying the equation 2{:.*+‘i=;!—9[:1 +ﬂ+ l-l-,quw"[

Question ID : 723053789

<14
X2
v

X42 R

Mo =

Q.6

The greatest common divisor of three integers 105, 140 and 350 is:

Question D : 723053783

X5
X215
W 35
X 4 70

Q.7

Lt &t i & g et rrocts of the equation X7 + pu+ 1 = 0 Let ¢ and o be the roots of he squation «° # g e 1 =0,
Then the valoe of (0 — ci(b — ci{e + d){b + d} is equal 10:

Question |0 : 723053792

X p?+ q°
XE_ pz_qz
vi-p’+q®
x4' _pz_qz

The prime factorization of 42833 is given by:

Question |0 : 723053785

X1 7.21.299
X2 7 .21.291




X3 7.21.219
v 7.20 211

Q.9 ‘Whatisthe mumber of divish

positive imtegers 241 and 1987

v 4
X2 36
X316
X412

Ans

used by the Eaclid

algorithm 1o find the greatest common divisor of two

Question ID : 723053784

Q.10 The product of the roots of the equation 17 — 3kx + 27} = 1 i 31 Then the sum of the roat is:

Ans

X1 4
X222
v3i6
Xas

Question |D : 723053795

Q17 The solutions of the linear congruence 7x = 22 (mod 31) is:

Ans

v 1 x =12(mod 31)
X 2 x=21(mod 31)
X3 x=12(mod 21)
K4 x=196

Question D :?umﬂj'-._--

- .

P &

-

12 -
5 4 W | Question |D 1723053797

The positive valueof x = |12+ [12+ /124 - uptoe is:
Ans X1_ 2

X21

4

X4 B

I Q)

Q.13 o £ . SR - v e

The nuniber of real solutions of the equation /x + 9+ /34 x =5 15.[ Question D : 723053791 ]
Ans  of 1

X23

X3 2

K40
Q.14 g 12 7 :

e, B and ¥ are te ooty of the equation +px’+q-ﬂ.mquﬂ.mm1henhean 11r §|n¢q1.dba:[ Question 1) - 733053804 ]

Ans
K1.E
q
P
i
" q
vio




}(4,1
P

Q.15 Whena + b + ¢ = 0, then the quadratic equation 3ax® + 2bx + ¢ = 0 has:
Ans X 1. One root in [-2, —1] and other root in [2. 3]
< 2. One root in [-2. —1] and other root in [1, 2]
X 3. Imaginary roots
« 4 At least one root in [0, 1]

Question |0 : 723053799 J

0. 16 When the quadaric wuations 5 = 754+ b = 0 e 39 = 112 + 28 = 0 i omimtnces oo, Wi the vl o K i
Ans OC 112, ~1
X2 0,14
v 0,12
X a 1, —12 _ :j"-;.;- |
o — ———
The umber of real roots of the equation (7 + 4V3) "~ +(7-4y3)™ " =14 'a:[ Quesﬁm-ﬁ:ﬁzﬁ;ﬁ = ]
Ans 4 1, 4 _ . -
X21 VWANA®
X33 A QY
i

Question |D : 723053798

Qa7

Q18 1fc and d are integers and c =dq + 1. the.n [ o Question ID : 723053782

Are X1 (c.d)=(d,1)
Vi ED=@o
X3 (o=@,
X 4 (c.d)=(da)

= ==

Q.19 E\"Cl'j" pnmeéﬁ‘is.or of the Fermat number Fﬂ = 2*‘ + 1 is of the form: [ Question 1D : 723053786 ]

e of 12241
X222+ 1
X3 22n+lp 49
T e &

Q.20 4 % 1 1 1 , T
The number of real solutions of the equation e e e ! Question |D : 723053790 ]
Ans  of 11

X2 2
X33
X4 4

Section . Subject Related




%1 One radian is equal to:
Ans - X 1. 360°

X 2 180°

v 3 57°17'45"

3n
KA —
2

Question |D : 723053820

0.2
If A, B and C arethe angles of a triangle ABC, then the value of

sin*C cotC 1
Ans X 1. 8sinAsinBsinC

v2o

X3 _4sinAsinBsinC

X4 1+4cosAcosBceosC

Question |D ; 723053802 ]

sin®A cotd 1
sin‘B cotB 1) s

Q3 Which of the following statements is not true?
At of 1 adj(AB) =adj(A) adj(B)
@

Question lﬂfmam

Adjoint of a diagonal matrix of order 3 X 3 is a diagonal matrix

s |

The product of upper triangular matrices is an upper triangularmatrix .

X 4 if det (A) =0, then adj (det(A)) =0

- .;‘ﬁah

0.4 Ifﬁ=[_ll _i
As X 1. 64B
X 2 16B
X 3 32B
v ¢ 128B

i] and B = [_11 _11] . then A® equals:

Question |0 723053804 ]

(.5 The arthocentre of the trianghe ABC, whose angubsr paists are Af1 2), B(2, 3) and Cf4, 3), is af the form:

Ans X1 (2,5)
v 2 (1,6)
X3 (2,1)
X4 (1,4)

Question |D 723053816 ]

u_ﬁ The aquacion of the Jocs of & point which moves sach St its difference of distances from the polms (3,00 ad (=3,0) i
4 umity, s gven by

|

Question |D 723053810 ]




Q.7 Theoquation ofthe struigh line thal pases thirotgh the polal (3,4} e has imercepts oo e aom squal i magnituds
Inil arprpsonite in sign i

Question ID : 723053813

Ms X1 x+y=2
Xzx+y=1
vVix-y =-1
Xax-y=1

98 The value of tan 8 tan(60° + 8) tan(60° — 8) is:

Question ID : 723053819

As  of 1 tan 30
X 2 3tan®

X3 G) cos 36

X G) sin 30

values of &

Ans

u_g Ifawywem of eqaatiom ¥ 4 ¥ = {1+ kjn+ (24 k)y =8 and 1 —{1+i]y+[2+k}-ﬂhmnﬂc§;_julfl N

E o
g

Question |D : 723053806

=5
Ve 1, =
X201
1
- P =

ll'lﬂ IO 0, (0, o) - 1, e e midpeents of the shies of & triangle, then the in~cenire of S wisngle is ai coondinsies

fne X 1(2,4)

Question 10723053809

Xz (3.1
X3 (2,3)
v (1,2)

Q.17 The squation of the sraight line pasing tuough e polnt of inevection of e lines 1 + Sy + 7 = RAx 4+ 2y -5 =0
o paraflel the line Tx + 2y —5 = 0 i

Question 101723053815

Ans X 1. 2x+T7y+20=0
X2 2x—Ty+17=0
viT7x+2y—17=0
XaTx+2y—20=0

Q.12 Al the four eomvies of the 2 % :m.lh:ix.l.l[:i: :::Imm-mdmn{nn@mtﬂmum'ﬁmﬂﬂr [
follrwing sSalements i tnee?

Question ID : 723053803




| Ans =

X 1 aga;;, +a5,3;, =0
X 2 @585, —a553,; =1
K 3 ay,a;; —ay,3,;, =—1

Vi a3, — a3y, =0

Q.13 Whenm is a variable, then the equation of o family of lines making a constant imencept ¢ on the ¥ -mis 1

A f 1L y=mxtc

Question |D ;723053817

Xzm@x+y)=c¢
X

X3 }"=(§)—C

Nex=myzxc

Q.14 Two vertices of a triangle are (0,5) and (6,1), When its centredd i (1, =2), then the third vertex is:

Ans 1. (=3, 14)

Question |D : 723053808

X2 (3,-14)
X3 (3,14)
W 2 (-3, -14)

|.'.. ﬁ‘.--:.

@15 1£x = sin20 + cos*0, then for all values of 0

Question D : 723053821

el R e
v2075=<x<1
X3l<x<2x
X405=x=<15

Q.16 T}wdim:bﬂwﬂulﬁp:n@ﬁ Sr-12¢+2 = 0 and5x- 12y- 3 = 0 is givenby:
Ans 1 l

Question D : 723053814

;M e
13

&
14
5
13
1
17

Xz

V)

X a

Q.17 Wanmemologatiom di +y+ 2= Lrtdy+ el anda4y+ iz s consistens then . can hane value s

Question ID : 723053807

Ans 1 2
X21
X3 -1
v -2

Q18 o what vabue of k., does the straight line ¥ = x + k touches the elpse ()" + (2) = 1?[

Question 1D : 723053818




|ane XKy 7
X246
v 45
X4 2

Q.19 For which value of k, the points (k, 2 = 2E), (=& + 1, 2k) and (=4 = k, 6 = 2k} are collinear?
Question 1D : 723053811
A K12

o —1
X305
X a1

Q.20 The equation of the straight line that is equidistant from the linesx = 3.5 mdx = 7.5 i Question |D - 723053812 ]
Ans X1 x = —1
X2x==2
vix =2 d\Y
Xax=1 Ne )

Section : Subject Related ":'J"k'._ ur
Q.1 wain=(s) + #0703 + 6in"5(z) = ';E.mm vadae of ([x)1%% 4 (¥)190 4 [(£)159) = {ET“'-&%‘“H‘ k. I.-'r_u1~ ._""J"F'T.-_.tluestiun o sanetes] ]
s K12 S

V2o AN

I‘I lI = 'I.‘. e
X33 et
Ka -1
T
Q.2 k.,
IfA = tan'r.‘; and B = tan™! (&) _then: [ Question |D : 723053828 ]

Ans X 1.sin 4%;@%
X 7 sin 2B = cos 2A
v © cos2A = sin4B
X 4 sin2A = cos 2B

Q.3 1f sin™*(x) +sin~* (—x) + cos™ (1 — x) = 0. then x satisfies the equation:
Ane of 1 2x2 —5x=0

X22x2—x+1=0

XKa2x24+x—-2=0

X42x2—5x+2=0

Question 1D : 723053830 J

aesghe off 45 7 with the ground. The eotbre lesgeh of the tree i Question 1D : 723053827

Ans X 1.16vZm
X2 4(1+v2)m

Q.4 Avreess beoken by wind, its upper part touching the grocesd at @ post 16 m froen the foot of the tree and maiong an ]




v 42(1+v2)m
X4 (4V2+1)m

Q.5 When we use Mean Vahse theorem for (%) = x(x = 13(x = 2), then 1he value of ¢ between 0 mi i

Question |0 : 723053837

Ans X 1.0,.138
X 2. 1.764
v : 0236
X 4 0.317

Q6 when tan~!(x) = cos~!(x). then the value of sin(cos‘ltx]) is: |

Question ID : 723053829 ]

Ans  off 1. 42
X2 x-1
X3 2
X4 g2

& T 9

S T

Q.7

Ia'!-[:nﬂeu:l]—hul.l TETL]
Ly

l:‘r[;]-l b o continuous funetion, then the vahees of & and b, respoctivedy, ans:

] [ L]

Quesﬂnﬁ';l::l 125‘533853

Ans 5____3

= - "

e

Q.8 woe muﬂﬁnumhmmm‘h‘—[h’i}u 1 = 0 and thery imchads an anjghe is &0, then
thind side of the asgle i =

Question |0 723053825 ]

Ans -1
=
" 2

v: Y3

2

tan x=

* exist? If it does, then the value of this limit is: [

x2 tan x

Question |D : 723053832 J

B | = )|




X3
X 4 Such value does not exist

Q.10 The possibe sobutionis) of the equaticn tanx + — = 2 cos x, lying in the interval 0 = = % 27, are:
Ans (1.
v
X 3
X 4

Q.11 Inatriangle ABC, ifa +b— 3¢ =0, then cos A + cos B is equal to:
Ans X 1. 3¢cosC

W 2 3(1-cosC)

X3 3sinC

K 4 3cos(A-B)

Question D : 723053822 ]

= b e

Question 1D : 723053823

£ T
LY

s ...'. T .. - L L
Q12 e possible extreme point of a funetion f(x,¥) = x> + % + (2) + (2) is l Question ID 723053841 ]

Ay X 41 K
vz (1,1)
X 3 (0,0) \
X4(-1,-1)

Q.13 The fimction f{x) = (x* — 1)|x® — 3x + 2| + coslx| istnot differentinble at the point: [

Ms of | x=2
K2 x=—Lgm
X3 x=d‘.‘“_ ;
N a=1

Question |D ; 723053834 ]

Q14 The slope of the circle x2 + y2 = 25 at the point (3, — 4) is: [

Aes K105
X2l
<3 025
v 4075

Question |D ; 723053838 ]

Q.15 When we use Rolle's theoremn for fi{x) = x™~*{a = x)*" then the value of © between O and a i
G o0y (m—1a
m+n-—1
(2m+1)a
2m-2n+1
(2m—1)a
2m+2n—1

Question |0 : 723053836

X 2

v




x4 (m+1)a

m+n+1
Q.16 1 thee meddian of the trinngle ABC through A is perpendicular to AB, then the value of tan A~ 2 tan B s
Question |0 : 723053824 ]
Ans X1, tan C
K 2cosC
X 3 sinC
v o
Q.17 2
The first derivative of y w, with respect of x , is: Question |D : 723053835 ]
Ans X1 2x~2 4+ 5x~% — gx~¢
v —x246x % —6xt
X3 x2_6x 3% 4+6x°* !

X x=2 4 6x~3 —2x*

-a_'la Let [ be s comimeous fimction on [1. 3] B mkes only mthonal valoes for all - and {23 = 19, then F({ 1.5] 5 equal 10: l

Ans XLE

?<2'(%)[f(1}*'f(3)] 2 iiﬁtfiifﬁf
v 10 rk S Lo

e .__.:.‘ _,I-
x4 20 AN/
ﬂ
Q.19 mmnﬂutwmm-nmhmmmmmwmm
the mghes of ebriaation of the fwi places fhom the same point on the grouod an 60 * -m tmipectively, The beigh Question |D : 723053826
ol the Jower plane froos the grousd ii:
Ans
X 100v30 m
Iﬂﬂﬁ

m,' |
X3 3’00@1{:

v 4 100v/300 m
=
Q.20 The distance of a poiet on the curve ¥ = 1{x* + 3x + 2) which is nearest to the line ¢ = 1= 1 i
Question ID : 723053839 ]
Ans
X
X 2




section | Subject Related

Q.1

Ans

The ponaiblle mumber of solutions of the eqaation k5" 4 g{x) = 0, where k = 0,g{x} # 0 and {2} has minimum
value 0.5, |a/are;

Question ID : 723053843

v 1 Zero
X 2. Two
X 3 One
X 4. Infinitely many

0.2

The unit vector in the direction of the vector 2i — j — 2k is:

Question |0 : 723053859

v () @i-j-2k)
X 2 3(20+j—2k)
X 2 9(2i+j—2k)
X4 (3)@i+j—2k)

.. -|. e

Q.3

The solution of the differential equation => Y E::H] represents a parabola if:

Question ID: 723053854

X 1. Bothaandcare 1

X 2 Bothaand c are 0

v ¢ is zero and a is non-zero
X 4a=landb=2

@

Q.4

The particular solution of the differential equation % = B8 10 m 0 is: [

Question D : 723053853

X1 4e3% 4 3e% =7
X 2 4e3rdo¥ 3
X s gy &g““!= 4
Vi ge3* 43¢ =7

Q.5

The general solstion of the equation 2 = [f]+¢|[;]| i given by v In|Cx| = x.m¢{$} is:

Question D : 723053856

()
X2 e)z
o )

o (_Z :

X

Q.6
Ans

Let fix) = K"'s!u"vﬁdu and gix) = j:".'mr"ﬁ it Theen thee valte of f{x) + Ux) is equal w:

Question ID : 723053848

i
{,
" 2




27
o s
3

Q7 yetd,b and @ be any three vectors such that |@|= 1,|B| = 4,1&] = 8 and

Question |D ; 723053858

de(b+2)=Dbe(f+a)=c»(d+b) =0, then|d+b+¢| isequalto:
ans of 10

X212

Ke7

X438

I and F(¥) s s aniderivative such that F () = 6. then F(x) s of the form:

Q8 yrp(x)~ e

s & ¢ 2M+3
X 2 2\Jtanx + 1
X 3 2\Jtanx + 2
v+ 2\tanx + 4

Question |D : 723053845

Q9 e general solution of the differential equation 2 + sin (522) = sift Soe a;l

Question 1D : 723053851

Ans X 1 In|tan E) = E+25_En(%)__
Xz tan(%l= C—2sin G)
X sitnlta ='¢ — 2sin(x)
v tan&) L.C=p sin(%)

Q.10 1iye solution ufhtﬁﬂfﬂ:ﬂiﬂ:qumz}'sinr{fﬂ = gin2x — ¥ cosx with ;'G] =1is

Question ID : 723053855

s X1 y=sinx
v 2 y?=sinx
X 3 x? =siny
X4 y2=1+cosx
" The value of the integral fﬁ dx is: [ Question ID ;723053846

Ans 1
X Einlcas(z_t)l +C




1 1

v: Einlcos(Zx)I g cos2(2x)+C
1

X 3 icas(-ix] +C

1
X 4 Ecas(alx) +C

Qa2 The solution of the linear differential equation % = IC—:) is given b}"l Question D : 723053852
Ans 1

M x =Cez-"'+(—)[y2+2y+ 1]

X2y= Ce—2*+( )[x +2x+1]

X3 x—Cez-"'+()[y2+y+1] :

Vi x =Ce® +( ){Zy + 2y +1] r~

-

Q.13 [ b Ve P D : 723053850

Thedegreeufth:d:ﬂ‘emmmlequanon(h) (d,) —4=0jml o Ml IBstonD:
- e -

X2 2

X33

X4 4
. ?Tﬁ”?’ﬁf“fﬁm PR O Gt s e Question ID : 723053842
Ans v {2 _4'}

Xz (1,-2)%

X (=12)

X (-2,4)
ﬂ_]s I F(x) = 2u b 3% hogg, (3], amd FUX) s ity antidaivative such thal F(X) = 7, then the valoe of x for which e curve v

Fix) cuts the absctua axia b Question |D : 723053844

Ais of 1 x =1

X2x =2

X3y =3

Kix=0

% The value of the integral [

sinx . [

dx is Question ID : 723053847
Vil+cosx

X V2 cos(’—D+C
v —v'ﬁcas(%)+6




?fS-Jﬁcas(%)i—C

Xa - 2(:93(%)+C

Q17 : w x Inlx) . - :
The value of the integral _[u ey dx is: Question ID : 723053849
Ans X113
X 2 2In(5)
X 3. 5In(2)

W10

QB W (dxB)xe=dn(Fxd) where,d = 20+ F 4 2k, B F =, & = 41 4 o] + 2. thes the values of 4 snd  sre
respectivly: Question |D : 723053857
Ans x i 1:4
X223 - 9.
XE- 4,2 == .:.'_. . -

vil,2 _ |
e

Q.19 The distance betwees: a point whose position vectar is 51+ | + 3F md the line 7 = (3047 + £ + t() + k) s given e = W
s e S 4 7 "Question ID : 723053860 J
, w1 L=
v2e6 9.4
X35
X4 4

Q.20 ®-..
Let @ be any nion-zero vecior. whereash and & be unit vectors. Then the value of Question D : 723053861

{[{&+E}x(&+@iﬁt§§g}_}-(si-z]g;
Ans ¢’| 0 o P h

X 2 fal®

X 2 2|

X 4 3|d|?

Section ; Subject Related

Q.1 £A and B are mustually exchosive events such that BiA) = 0,26 and BB} = 0,43, then P{A N B) is aqual to; [

Question |D ;723053880
Ans  of 1. 0.29

< 2 085
X 3 037
< 4 0.50

Q-2 The tength of the shortes distance berween the lines "= = 2% = =

“|

E
..1.
s
ii

Question |D ;723053867

Ans 1. 13466




Q.3 ot e L
The angle 8 between the line == == === and the plane 3x + y + 2 = 7 is: Question ID : 723053868

Ans 5

5 e A %
xa cas'i(—) =0 9?7
7V11
a = . !I = -
Q.4 The arithmetic mean of the data (x, f) : (8. 5), (10, 8), (15. 8), (20, 4) is: [ -*Em’ﬁm-nsmm
Ans X 1. 25 o Y ,'-'l'r A N
X2124 & S\ 4
V3128
X4 125

Q.5 Which of the following triplets gives the direction cosine of a straight line?
X L ks y al R eht Question ID : 723053862

Gl - & O 1 15
x' Zok 1’._':]: ¢
X3l -1, g™

bt 1
Vi BET

Q.6 1Fat beast one child in a family with 2 childen is o bay, then the probability shat both children are boys is:
Question 1D : 723053881

Ans 2
K1.§

3

Xzi

1

¢3.§

1

X:t.:}

.7 The equation of the sphere on the join of (2, - 3, P and (1,-2.-1 diameter is:
@ s ¢ gl e g™ ! Question 1D : 723053871

Ans




XK1x2+y2+22+3x—5y+7=0
v x2+y2 422 -3x+5y+7=0
X3 x2+y*+22+3x—-5y—-7=0
XKax2+y24224+3x+5v+7=0

0.8 1fastmight line makes sagles o B,y with the mes of coondinabes, then cof 20+ co3 20 + cos Iy b equl to;
l Question ID : 723053863

Ans X1-1

Q.9 The point of comtact of the plane 23 = 2y 4 £+ 12 = 0 touches the sphere 37 4y 4 2" = Wy~ dy+ L2 -F = Dfx

s XK1 (14.2)

Question 101723053869

Fo o >

X3 (2,14
X 4 (4.1.2)

Q10 The mode of the numbers 25, 15, 23, 40, 27, 25, 23, 25,20 :s.‘[ . W ¢ e

Ans X1, 24.8
225
X313
X4 247

(.77 The msean and seandard sevistion of 20 saubers are found 1o be 10 858 2 respectively A1 e tme of checking. £ &
focned that one valie was wronghy taken o5 B, which shodhd bave been ideally 2. 1f the wrong value is replaced by the Question 1D : 723053877

comrect o, taen the correct mem sl deviation, pepectively, are:

Ans ¢ 110.11,1.997
X 210.01,'1.097
X 310,01 1.917
v 4.10.2,1.99

Q.12 When the mode is ill-defined. then the Empirical mode formula is of the form:
Ans 5 1. Mean — Mode = 3[Median — Mean]

Question |D : 723053873

X 2. Mean — Mode = 2[Mean — Median]
v 2 3 Median — Mode = 2 Mean
X 4. Mean — Median = 3[Mean — Mode]

{HE m“it\iﬁmmw:mmdhmﬂﬂniﬁmnfhmn[nmi. £06,7, 00,12 1% 18,
respectively, ae: Question |0 : 723053879

Ans O 4148
v 2 4.25,4.875
X 3. 4.15.4.825
X 4 3.75,2.575




Q14 The straight lines are coplanar if: Question ID : 723053866

Ans  of 1

They are concurrent and a line is perpendicular to each of them
X 2. A line is perpendicular to each of them
X 3. They are concurrent

< 4 A line is parallel to each other

mean 6.6 and smandasd deviation 1.5, Then the mean aed the sinndard devimion of the remaining 45 obsenasions,

Q.15 The mean and variance of a group of 100 cbeenvations ae &5 and 3 respectively. 55 of these observations have the
respoctively, ane

Question |D ;723053878 ]

Ans X 1. 8.36,1.91
X 2 6.83,1.78
X 3 6.26.1.89
v 1 6.38.1.97

A\
..' 1 »

Q.16 e distance of the point of Emessection of the line == = £ m 2% o the plane x — 3 +7 = 5, foe the poion

{=1,~5,-100, ix Questim’_!._n..ﬁzgfaé? ol
Ang (1- 13 .

x 29 . & i Y ﬁ ‘ ?

x 3 2 I..I." \;-.—,:’I; g

X 410 a \ Y

[ 1 L N

.17 When e sgieres 1° + 3* + 2% = 75 and :14}-’+:'—|a.—z+_r—m;+m-um&m i
paist of cemeact of the spheres i i h-[' Question |1D : 723053870 }
B e (2 3 -1) :
% .
7.7 278

X3(0,12/20), "

Q.18 The relation between mean deviation (M.D.) and standard deviation (S.D.) is: ; ; ]
Question D : 723053876
Ans  of 1 SM.D.=4S.D.
X 2 4MD.=3S8.D.
X3 4MD.=58.D.
X4 3MD.=4S.D.

Q19 The median of the numbers 20,18, 22, 27. 25, 12, 15 is: Question ID : 723063874 ]
Anz of 1. 20

X222

X3 19.8

#4199

Q.20 The co-cinates of the poin that divides the e joining the poinns P2, 3. 1) and (5.0, 4) in the ratio 1 : 2 are: |




l Question |0 ; 723053865

|ae X1 (4,1,3)

v 3.2.2)
N5 G.115

xe @

Section ; Subject Related

Question |0 1723053884

Q-1 The protubiziny deusity frmctaon f ) o8 & coatinsns madoss varisble X Bwh‘ﬂﬂ-i“'ﬁ'_. [
e v off < K

Ans x 1. 40
X 2200

3
F G e
200
200

v 2 2

— —— —
o

Q.2 Suppow Uind W are Sitioct &-dinumivoal silbigaces of 8 vecid specs Vof dimesiion 6. The poxsibie dimenalon of . v _.-
UAW e l . CQuestion ID :723053887

Ans X1 4or6 U4 £ ﬂ
I i Zors , Th"
Xalord

Q.3 Ifthe menn of 8 Poisson distribution is 0.5, thepthe mtio of P(x = 3) o P(x = 2) is: )
Question ID : 723053885

Sl G £
X2 1:4%
vil:6
X a1s2

Q4 1 the Laplace transform of a function f(¢) is ﬁ - then f(t) is equal to: Question 1D : 723053901

Ans

1 —a
W E(l—e )
X2 (1-e%)

X3 ge~at

X a 1 e—at
a

Q.5 The function fx,¥) = x® 4 ¥? = 63(x + ¥) + 12xy attains minium at the point; Question ID : 723053898

Ane W 1(=1;5)
v 2 (3,3)
KE(=7=T7)




X4 (5-1)

Q.6 [ Fis) is the Fourler transfonm of a fianction f{x} . then the Fourser tramsfonm of f{2x) is given by:
[ Question |0 : 723053900

Ans X 1. e2iSF(s)
X2 F(s-2)

1)

1
vezos)

Q.7 The eigen vectors comesponding to distinet ¢igen values of a real symmetric matrix are:

i Question ID : 723053888
Ans 2 1. Invertible

X 2. Distinct
X 3. Symmetry
v ¢ Orthogonal

Q.8 LetT b linear ramdoomanion of R into RY defined by T3 v.2) = (25 4+ ¥ — 2. 3v — 2y & 4z} for all {7, 3,3 € R, Then o .
e mairix of T pelative to the bases [ = [&, = (1,102 = (3,1.00,8, = (L00)) and 5 = [, = (1,30 = (LAD) b Question |D : 723053893
i

g : =S

s _31 _811 g] a AL ﬁ
b e

Y —31 i —53]

Xsils Eg

Q.9 il =(s’ um-w:'-"&imgﬁﬂ‘f_.?r*}u-niymmnr:.Mnmﬂmuru.mcm&n

s of1ia=2%b=—1c=-1,d=2

Question 1D : 723053899

XWR—'h =1 ¢c=-1,d =2
Kg= oy =1, =i, d =3
Kiades2bhs=1ds<1d=1

1f the probability density fmncreen of a contisous medom variahle X i defined by (v} = kx(2 - 1), 0 < ¥ < 2,
Q.10
then the value of * & ° is:

Question |D : 723053886
Ans

Q€ X X
: w ™ ~
(Y N [ U R N S S )

s

| la11 (



swn-{"" B mmml,nw vor. Thi charscteriotic polvimmial of M i wm‘l

Question |0 : 723053891

Gtk G iy
Ans 1 equal
/< 2. The quotient
' 2 The product
& 4 The sum

Q.12 The norm of v = (3.4) € R?, with respect to the usual inner product, is given by:

Ans X 1.9

Question |D : 723053889

X216
vis
X4 25

Q.13 Let W= {(a,b,0):ab € R} be a subset of R? . Then which of the following is true?

Question |0 : 723053890

An® 1 W is a subspace of R?
X2

W is not closed under vector addition and multiplication
X 3 W is not a subspace of R
X4 W=

Q.14 Ao contaim 20 ebectric bulbs, oul of which 4 s defective. mmnm:mmmwﬂy
probabilsny that at besst ome of these is defective k- =

Question |0 : 723053883

Tami=s
" 19

4
p e s
19

21
P T
95
2

4+ =
19

Q.1s Inaplaneu‘iangleﬂBc,lhemnthnnm]ueafcmAmschCis:L

Question D : 723053897

Ans
5.
> 2
b 3

- &

Ol ] = b= ] W

Q.16 Letf bea fmction sl tha fix) = [{1 - x), for ol xe B OFF b differentianble everyahere, then (D) b equal 1o

Question |D : 723053895

e X0 fQD)




vz—f'(1)
X3 f(0)
X4 —f(0)

0 (z+2)"1 .

(n+12)34"

7 The radius of convergence of the series ¥7,
as o1 4

X2 2

X1

X4 =2

Question |D : 723053896

Q.18 1dentify which one of the following matrices is similar to a diagonal matrix.

Question 10723053894

Ay 2 3 4
Kiulp 2 3
D 0 4
3 1 1]
w212 4 2
3 1. 3l
2 1 0
X3lo 2 1
0 0 2
3 10 5
?h[—z—a—]
3 5 7

Q.19 swhich of the following vectors form a basis for the vector space R? 7 [

Question ID : 723053892

Ans 21 (1,2,8). (100, - ;3. - 1, 49)and (2.1,1)
v (2.4.43).(0.1. 1) and (0, 1, - 1)

X 3 (1.3.-4).(1,4,-3) and (2. 3, - 11)

X4 (1.2.-1)and (1. -1, 5)

Q.20 A bag comtains § white, 5 red and & biue balls. Three balls are drrun of ramdom Eon the bag. The pobability that all
ooff e are red is:

Ans

Question D : 723053882

3
N Vi
22

1
i A
22

2
p i
77

2
4 —
91

Section . Subject Related




Sevel of prychomutos

Q.1 Wiena lesner perfoomss 2 shill seconding to the instruction rather than the observation, he i known to be ot the l
domain

Question ID ; 723053904 ]

Ans 2 1. ‘Manipulates’
X 2 “Articulates’
v 3 “Imitates’
X 4 “Naturalises’

Q.2 Which of these factors does NOT affect the emotionality of a person?

Question |0 723053902 ]

Ans (9

Child A is too much excited at the thought of an ice cream

p
Child B is exhausted after travelling for 4 hours in the car

]
Child D is suffering from disease due to malnutrition

- &

Child C is happily sleeping at night undisturbed for 8 hours

0.3 7 =v B # Ao & & o S
o o R B e eniE e wnn R oEr boww i e i et Snor e |

Question ID : 723053905 ]

wawa =09 W T s amest w weE e ) aw S T o e ¥ owe s e s
gt b

e XK ggor gaEd drae £ &
v 2w O @ o
X 3 rem/anntees (Fhfaw) des A e
X+ rou/aifRe (enfegs) @ #r O

T
()

04 Pr=ffEs & F 50 5T O oS ¥ FEfUT o ey ol B

Question ID ;723053911 ]

Ans ,,\";
TTEaTas Ut # 3ETE T &R = §F A T FAER
X 2 ggd. =T
X 3
AT H FUHATS® dedl & a # SHQ
< a
TIAH "ATHT R ANAIH IFeTTA (HI=T)

Q.5 Which of these is NOT a 2D art, method or technique to use while teaching a subject? l

Ans X 1. Collage making

Question 1D : 723053912 ]

X 2 Rangoli
+ © Installation
X 4 Mandna

Q.6 in'are mandated 10 provide soadiemic s technical rescasce Yepport 10 adull s continuing educstion
throtgh Srvelopment and production of matersal and traming madubis, 1n sddition o this, vy would by rogared
condust mtivational and enviromnental building. sction rescarch and evalation and mosstoning.

Question ID ;723053903 ]

Ans X 1. Rashtriya Madhyamik Shiksha Abhiyan




' 2 The State Resource Centre(s)
/< 3 Sarva Shiksha Abhivan
# 4 Jan Shikshan Sansthans

3 a dinelopmatal deatlay vigmificanly affegtmg verbad and pieeveral Comsnunivation and sovial léragtion,
emmally fuidént befre ge three sl charscoaniad by enpagsy in sepetilive aqtivetioy and sforostyped moaneat,

Q.7

Question 1D : 723053921

Ans  of 1. Autism
/< 2 Dyslexia
# 3. Dysgraphia
X 4 ADHD

Q.8 Identify the correct statement on role play from the given options?

Question D : 723053913

Ans 1. Introverts enjoy Role plays

X2
All kinds of leamers are proactive to take up role plays

/< 3 Low level of learner involvement

g
Effective while addressing issues in the affective domain

Q.9 What should be the objective of teaching science at higher secondary school Ievdff'

Ans (1.

b :'auestinn ID : 723053907

X 2. To develop the observation skills
v

To develop economic efficiency and capacity to earn a livelihood

<4
To get the knowledge about the society and natural environment

- — —

Develop the quantitative sense to solve the problems

Q.10 'B:eHtuhryhpg:uwmm:i'mﬁmmdimmmdmmmmmiﬂ and nctions is
P Lty

Question |D ;723053908

fns X 1 gender equity
X 2. gender parity
v = gender sensitivity
X 4. gender equality

Q17 Which of these is NOT a blog tool?

Question ID : 723053914

Ans X 1. WordPress
¥ 2 Trackback
/< 3 Edublog
X 4. Blogger

Q.12 'oaparcule Mahematics clis, 8 stadest can drnw geomenrical figses and graphs. Wiach atage of copsnive dossain
o ey et exchibiting ™

Question |0 723053910

Ans 1. Understanding




v 2 skill
X 2 Knowledge
< 4. Application

Q.13 Which of these is NOT a correct statement on the guiding principles of constructivism?

Question 1D : 723053918

Ans (9

Learnimg requires understandismg wholes as well as parts and parts must be understood i The comtext of wholes

X2

Thrmnuﬂwmuhmwmw CORRrST Bih of BeT 0Wn meEEnE. B0l just 1 memarise the “right™

X

Leamning miuss: start with the issues around which students are actively trying 1o constroct meaning

v

The learning process focuses on isolated facts, not on primary concepts

Q14 Which of these skills is a receptive skill?
ans of 1 Listening

X 2. Speaking

X 3. Writing

< 4 Language

Question |D : 723053906

&

Q15 Which of these is NOT a correct statement of the CAIZ

Ans  of 1

Question D : 723053915

CAI can give a human touch better than traditional teaching
X 2 It facilitates reteaching and reinforcing
X2

It can help teachers to improve their role in education process.
7< 4 Tt can create simulations in the learner

Q16 Which of these is NOT an assessment method?
Ans X 1 Homework exercises

« 7 Students watching an audiovisual

# 3 Simulations

/< 4 Presentations

Question 1D : 723053917

Q.17 When knowledge is acquired through religiouns texts, it is known as

Question ID : 723053916

Ans 3¢ 1. testimony
« 2 revelation
/< 3. reason
X 4. authority

Q.18 Which of these is NOT a correct statement on including inclusive education in India?

Ans  of 1

Question |0 : 723053920

Children with special needs cannot be made a part of regular school.




X 2

It develops the tolerance and appreciation of normal children for differently abled students,

X 3
It is an opportunity to form friendships with other children.
X a
Oiving all the sormal end differemly sbled children equal opportunities to beam and et equal treatiment as others. .
e
Q19 Which of these is NOT a part of social science?

Ans o 1. Biology
X 2 Anthropology
X 3. Statistics
X 4. Sociology

) & qmsﬁ ID : 723053909

Q.20 The aseiment that expands the findsgs of an assevsment with analysis of sbilities and potentials with a frther
dimerskion is koo s

Ans 1. summiative assessment
v 2 prognestic assessment
X 2 diagnostic assessment

X 4 formative assessment

Question |0 : 723053919




